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(Newton'’s equation of motion)

v(?) r(7)
2.2
2.1.1 x=0
2
md—;:—fx (2.2.1)
dt
A
(2.2.1)
x =agSiN(wgt + 90), (2.2.2)

a)oz\/z (2.2.3)
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2.2.1 ap, O
2r
f0=w_0 (2.2.4)
Iy
2.3
1
T -v/r T
2
0 S SO (2.3.1)
dt T
1/ 7=2y

d?x 2 dx
i —2y—= (2.3.2)
az = Ty

4 (2.3.2)

X 2 (2.3.2)
x=ye”

E (@ (2.3-3)

(2.3.2)
2 2
Ex_ 4 5B 2 (2.3.4)
di> " dr? dt
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(~02y - 27% +2y%)e ! (2.3.5)

— =—(0f-r%)y (2-3.6)

4 Dy<wo 2)y=wo 3)y>wo 3
y

1) y<wo

y=dsinoi -y +p) 4 ¢ (2.3.7)

2) y=wo
y=Bt+C B C (2.3.8)
) r>wo O<g<y
72 —w§=q° (2.3.9)
ye et (2.3.10)
(2.3.6)
2= (2.3.11)
A=%q (2.3.12)
D, E
y=De ¥ + Ee? (2.3.13)
D) 7y<wy, x=dsin(tyoé -y +p)e?! (2.3.14.a)
2) ¥=®0  x=(Bt+C)e"! (2.3.14.h)
3) ¥>®y . _pe Ut r?-od)i L Ee y-wf)i (2.3.14.0)
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A, B, C, D, E Q X =Xg
t=0 0
Xi=0 = Xo» (2.3.15.a)
dx
—);=0=0 (2.3.15.b)
(dt)t_o
(2.3.3) (2.3.15.b)
(Q_W)tzozo (2.3.16)
dt
A, B, C, D, E @
1) 7 <®q

. 2 2
x:xosn(t\/a)o—}/ ) v, p=tant (%)2_1 (2.3.17)

sng
2)]/ =wo
x=xo(yt+2)e”’ (2.3.18)
3) y >wo
x=xp[- L L et (T[22 (2.3.19)
2q 2q
2.3.1 720.20)0 o 200 x/Ixg y<wo
v
Y= o 1
V> o

19



X/IX 0

2n
1 I l 7
0 5 10
0ot
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2.4
@ Fe-ia)t
2 '
L S N WL S Y (2.4.1)
dr? m
(F=0) (2.3.14.a, b, ©)
4
o Eeio! (2.4.2)
(2.4.1)
' igo
£ = e taw:% (2.4.3)
m \/(a)z—a)g)2+4y2w2 W+ g
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(F') e-i (wt-9)
x=(—
m Jwg_w&2+@gw2

w = wWo

_ T o (@0 1£712)

(2.4.4)

(2.4.5)

(2.4.4)

X
maoq
(2.3.14.a,b,c)
|x] 2.4.1 W= Wy
(2.4.5)
Wy
6
L
F' v/®,=0.1

2.4.1.
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